Efficiency vs dr

x 12
- L
[
> -
> 11—
[5) L
< -
G-_) -
(5]
£ 0.8
(O] -
0.6
0.4
0.2
o n
T —=— DQM_CKF_TTbarPU
& 1.05[l{| —— DQM_mkFit_TTbarPU-noDNN3
—— DQM_mkKFit_TTbarPU-clonerfix3
[ ||Ehl’| biil .
0.95 A3 1
10_3 1072 10*1

1
TP min AR

[ Efficiency vs dr (track,jet) |

*al 0.5
0 0.45
)
¥
X 0.4
£20.35
)
c 03
<]
o
= 0.25
(]
0.2
0.15
0.1
0.05
g
I
X
il
0.95— EE
10 1072 107t
AR(TP, jet)

Efficiency vs pu

0.5
0.45

0.35

etficiency vs PU
o
N

o
w

0.25
0.2
0.15
0.1
0.05]

FRvs)

Ratio

80 100 120 140
Pileup

0.95
2

o
N
o
o
o



	Contents
	Page 1


